
RODILLO COMPACTADOR ROLNW-643

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

A Marco Superior y Motor

Página 1



RODILLO COMPACTADOR ROLNW-643

Ref. Cod. Rumbo Descripción Pcs.

A001 Sealing Plate 1

A002 Water Tank 1

A003 Oil Tank 1

A004 Outer Hexagon Bolt    M10×40 20

A005 Elastic Washer    φ10 22

A006 Plain Washer    φ10 22

A007 Engine 1

A008 Engine Base Plate 1

A009 Battery Cell 1

A010 Battery Cell Support 1

A011 Hanger 1

A012 Outer Hexagon Bolt    M12×35 10

A013 Elastic Washer    φ12 14

A014 Plain Washer    φ12 14

A015 Sealing Plate Support 2

A016 Oil Tank Connecting Rod 1

A017 Bolt with Washer    M10×16 3

A018 Hinge 2

A019 Nut    M5 16

A020 Elastic Washer    φ5 16

A021 Plain Washer    φ5 16

A022 Flat-head Inner Hexagon Bolt    M5×16 16

A023 Lock Nut    M12 4

A024 Damping Pad 4

A025 Face Plate 1

A026 Reversing Support 1

A027 Vibration Adjustment Support 1

A028 Outer Hexagon Bolt    M10×30 2

A029 Lock Nut    M10 14

A030 Engine Output Assembly 1

A031 Customized Bolt    M24 2

A032 Belt    A29-13*711 (gasoline engine) 2

A032 Belt    A32-13*787 (diesel engine) 2

A033 Clutch Assembly 1

A034 Belt A36-13*864 1

A035 Handle Assembly 1

A036 Moveable Joint DMT J37406 1

A037 Joint DMT J017406 2

A038 Hydraulic Oil Filter Assembly 1

A039 Hydraulic Oil Pipe 2T06-880 1

A040 Hydraulic Oil Pipe 2T06-500 1

A041 Oil Filter Fixing Seat 1

A042 Oil Filter Tray (adapter plate) 1

A043 Joint (Hydraulic Oil Tank) 2

A044 Joint J01740608 2

A045 Inside Hexagonal Bolt M6x12 2

A046 Trickle Tube 1 1

A047 Trickle Tube 2 1

A048 Hoop 4

A049 Water Pipe 1 1

A050 Water Pipe 1 1

A051 Spring Washer M6 2

A052 Flat Washer M6 2

A053 Belt A31 1

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

Página 2



RODILLO COMPACTADOR ROLNW-643

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

B Marco Inferior

Página 3



RODILLO COMPACTADOR ROLNW-643

Ref. Cod. Rumbo Descripción Pcs.

B001 Vibration box assembly 1

B002 Vibration box scraper 2

B003 Plain washer    φ10 8

B004 Elastic washer    φ10 8

B005 Inner hexagon bolt M10×25 8

B006 Lateral plate beam 2

B007 Lateral plate beam scraper 2

B008 Front Roller Assembly 1

B008-1 Rear Roller Assembly 1

B009 Right lateral plate 1

B010 Outer hexagon bolt with washer    M6×20 3

B011 Belt cover 1

B012 Plain washer    φ12 40

B013 Elastic washer    φ12 40

B014 Inner hexagon bolt    M12×45 30

B015 Inner hexagon bolt    M12×40 10

B016 Left lateral plate 1

B017 Brake assembly 1

B019 Hydraulic Oil Pipe    DMT R2T06*475 1

B020 Hydraulic Oil Pipe    DMT 2T06*420 1

B021 Hydraulic Oil Pipe    DMT 2T06*340 1

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

Página 4



RODILLO COMPACTADOR ROLNW-643

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

C Conjunto de Transmisión (A030)

Página 5



RODILLO COMPACTADOR ROLNW-643

Ref. Cod. Rumbo Descripción Pcs.

A030-01 Engine Clutch (double-groove) 1

A030-02 Hydrualic Pump Belt Pulley 1

A030-03 Bearing 6009 1

A030-04 Shaft Snap Ring    φ45 1

A030-05 Hydraulic Pump Cushion Block 2

A030-06 Hydraulic Pump Bracket 1

A030-07 Hydraulic Pump (HYDRO-GEAR) 1

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

Página 6



RODILLO COMPACTADOR ROLNW-643

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

D Conjunto de Embrague (A033)

Página 7



RODILLO COMPACTADOR ROLNW-643

Ref. Cod. Rumbo Descripción Pcs.

A033-01 Outer Hexagon Bolt    M10×20 2

A033-02 Elastic Washer    φ10 4

A033-03 Large Plain Washer    φ10 2

A033-04 Bigger Belt Pulley (trislot) 1

A033-05 Flat Key 8×20 1

A033-06 Hole Snap Ring φ62 3

A033-07 Bearing 6206 1

A033-08 Clutch Spline Shaft 1

A033-09 Clutch Bracket 1

A033-10 Clutch Spring 1

A033-11 Shaft Snap Ring    φ40 1

A033-12 Hole Snap Ring φ68 1

A033-13 Bearing 6008-2Z 1

A033-14 Plain Washer    φ10 2

A033-15 Shifting Fork Part 1 1

A033-16 Shifting Fork Part 2 2

A033-17 Plain Washer    φ12 2

A033-18 Special Outer Hexagon Bolt    M12×20 2

A033-19 Shifting Fork Shaft 1

A033-20 Shifting Fork Part 3 1

A033-21 Shifting Fork Part 4 1

A033-22 Plain Washer φ6 2

A033-23 Outer Hexagon Bolt    M6×20 2

A033-24 Internal Spline Clutch Disc 1 1

A033-25 Internal Spline Clutch Disc 2 1

A033-26 Clutch Sheet 1

A033-27 Clutch Belt Pulley 1

A033-28 Bearing 6305-2Z 1

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

Página 8



RODILLO COMPACTADOR ROLNW-643

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

E Conjunto de Manillar (A035)

Página 9



RODILLO COMPACTADOR ROLNW-643

Ref. Cod. Rumbo Descripción Pcs.

A035-01 Inner Hexagon Bolt M6×45 3

A035-02 Reversing Lever 1

A035-03 Plain Washer φ6 12

A035-04 Locknut    M6 7

A035-05 Reversing Wire 1

A035-06 Nut    M10 1

A035-07 Reversing Push Plate 1

A035-08 Outer Hexagon Bolt    M6×25 3

A035-09 Elastic Washer φ6 9

A035-10 Throttle Lever 1

A035-11 Throttle Cable 1

A035-12 Emergency Stop Square Steel 1

A035-13 Emergency Stop Button 1

A035-14 Vibration Adjusting Shaft 1

A035-15 Shaft Snap Ring φ20 1

A035-16 Vibration Adjusting Lever 1

A035-17 Outer Hexagon Bolt M8×25 3

A035-18 Elastic Washer φ8 6

A035-19 Plain Washer φ8 6

A035-20 Locknut M8 3

A035-21 Side Handle Cover 1

A035-22 Vibration Wire Support Plate 1

A035-23 Vibration Wire 1

A035-24 Handle Cover Plate 1

A035-25 Bolt M6*16 11

A035-26 Hook 1

A035-27 Handle 1

A035-28 Hook Rubber Block 2

A035-29 Hook Baffle Sheet 1

A035-30 Handle Height Adjustment Rubber 2

A035-31 Nylon Bushing 2

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

Página 10



RODILLO COMPACTADOR ROLNW-643

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

F Conjunto de caja vibratoria (B001)

Página 11



RODILLO COMPACTADOR ROLNW-643

Ref. Cod. Rumbo Descripción Pcs.

B001-01 Outer Hexagon Bolt M8×25 7

B001-02 Elastic Washer φ8 7

B001-03 Plain Washer φ8 6

B001-04 Blank Cap 1

B001-05 O-ring    φ85×3.55 1

B001-06 Bearing 22209CD1 2

B001-07 Outer Hexagon Bolt M14×1.5 3

B001-08 Al Washer φ14 3

B001-09 Body 1

B001-10 Eccentric Shaft 1

B001-11 Oil seal 45×75×8 1

B001-12 Through Cover 1

B001-13 Eccentric Shaft Belt Pulley 1

B001-14 Large Plain Washer φ8 1

B001-15 Flat Key    8×40 1

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

Página 12



RODILLO COMPACTADOR ROLNW-643

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

G Conjunto de Rodillo  (B008)

Página 13



RODILLO COMPACTADOR ROLNW-643

Ref. Cod. Rumbo Descripción Pcs.

B008-01 Inner Hexagon Bolt    M12×40 8

B008-02 Elastic Washer    φ12 8

B008-03 Plain Washer    φ12 8

B008-04 Hydraulic Motor 2

B008-05 Shaft Snap Ring    φ40 2

B008-06 Bearing    NJ2208EM 2

B008-06-1 Oil Seal 65*50*8 2

B008-07 Motor Bracket 2

B008-08 Outer Hexagon Bolt    M10×30 24

B008-09 Elastic Washer    φ10 24

B008-10 Safety Locking 12

B008-11 Motor Connection Shaft 2

B008-12 Roller 2

B008-13 Roller Bracket Assembly 2

B008-14 distributor Joint DMT    JG17490604 8

B008-15 oil Way Distributor 2

B008-16 Hydraulic Motor Oil Pipe DMT    R2T06*160 2

B008-17 Hydraulic Motor Oil Pipe DMT    DMT    R2T06*182 2

B008-18 Hydraulic Motor Joint JG17490608 4

B008-19 inner Hexagon Screw M10*40 4

B008-20 Elastic Washer    φ10 4

B008-21 Plain Washer φ10 4

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

Página 14



RODILLO COMPACTADOR ROLNW-643

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

H Conjunto del Soporte del Rodillo  (B008-13)

Página 15



RODILLO COMPACTADOR ROLNW-643

Ref. Cod. Rumbo Descripción Pcs.

B008-13-01 Roller Connection Shaft 1

B008-13-02 Roller Bracket 1

B008-13-03 Oil Seal 56×72×9 1

B008-13-04 Bearing 2209EM 2

B008-13-05 Shaft Snap Ring    φ45 1

B008-13-06 O-ring    φ85×3.55 1

B008-13-07 Roller Bracket Cover 1

B008-13-08 Plain Washer    φ8 3

B008-13-09 Elastic Washer    φ8 3

B008-13-10 Outer Hexagon Bolt    M8×20 3

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

Página 16



RODILLO COMPACTADOR ROLNW-643

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

I Conjunto de Freno (B017)

Página 17



RODILLO COMPACTADOR ROLNW-643

Ref. Cod. Rumbo Descripción Pcs.

B017-01 Brake Spindle 1

B017-02 Brake Spring 1

B017-03 Nylon Bushing 1

B017-04 Brake Bracket 1

B017-05 Set screw M6×8 1

B017-06 Inside Hexagonal Bolt M8x16 1

B017-07 Brake Handle 1

GRUPO RUMBO: Motoimplementos para Bosque, Jardín y Construcción

Teléfono rotativo: 54 11 5263-7862 - Email: ventas@rumbosrl.com.ar

Dirección: Av. Presidente Perón Nº 4749, Benavidez (Norlog), Buenos Aires, Argentina.

Página 18


